

INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10/3/2016

EVENT DATE: 11/3/2016

EVENT NAME: Friendship Day

CLUB: Student Alumni Association

TOTAL AMOUNT REQUESTED: \$3,835.00

TOTAL AMOUNT APPROVED: \$2,000.00

VOTE

YES: 5

NO: 0

Meeting Notes

 ICC Delegates only approved \$2,000 at the meeting

ASUCM PRESIDENT SIGNATURE:

Katelyn Fetzgerald

DATE: 10/04/16

APPROVED:

NOT APPROVED:

From: <u>asucm@ucmerced.edu</u> on behalf of <u>Associated Students of UC Merced</u>

To: <u>ucm ASUCM Intern</u>

Subject: Form submission from: ICC Proposal Form

Date: Wednesday, September 28, 2016 10:42:39 AM

Submitted on September 28, 2016

Submitted by anonymous user: [::ffff:169.236.78.23]

Submitted values are:

Contact Name (First and Last): Gabrielle Orduna

Contact E-Mail: gorduna@ucmerced.edu Club Name: Student Alumni Association

Are You a New or Returning Club for the 2015-2016 Academic Year? Returning

What Type of Proposal is This? Big Ticket

Event Date: Nov. 3, 2016 Start Time of Event: 10:00 am End Time of Event: 2:00 pm Event Title: Friendship Day Event Location: Scholars Lane

Description of Event:

Join the friendly Student Alumni Association in celebrating Friendship Day! Learn about the MSSM Scholarship, how to make friendship bracelets and

declare your true friendship to a friend!

Friendship Day is meant to honor the McFadden family and spread awareness about the MSSM Scholarship Foundation. We are focusing on friendship because we recognize that the friendships we have fostered here at UC Merced are what will carry us forward in our lives and our careers. Since students are away from their families, they depend on friendship to get through this long college journey. As a result of this event, we hope to bring a better understanding to students about the history behind this scholarship and the friendship cookie that unites all Bobcats.

Have You Received an ASUCM Line Item for this Event? No

Budget Breakdown:

http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/2016 friendship day proposal.docx

Total Amount Requested: \$3,835.00 Are You Bringing in a Speaker: No Description of Speaker (Optional):

The results of this submission may be viewed at: http://asucm.ucmerced.edu/node/135/submission/4581



INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO Name: Student Alumni Association

Event Title: Friendship Day

Total Amount Requested: \$3,477

<u>FACILITIES</u> – [\$200]

FACILITY	VENDOR	RENTAL RATE	HOURS O/USE	TOTAL PRICE
Scholars Lane Set Up	Facilities Management	-	-	Pending Official Quote

<u>HONORARIUM/SPEAKER</u> – [insert requested amount here]

Name(s) of Honorarium/Speaker(s):

Description of Services/Cost:

PERFORMER - N/A

Name(s) of Performer(s):

Description of Services/Cost:

ADVERTISING - N/A

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
					SUBTOTAL
					TAX
					GRAND TOTAL

<u>FOOD/DRINKS</u> – [*\$95*]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Kisses Chocolate	Wal-Mart	\$9.98	5	\$49.90
Dum Dum Pops	Wal-Mart	\$7.48	5	\$37.40

\$87.30	SUBTOTAL
6.98	TAX (if
	applicable)
\$94.28	GRAND TOTAL

<u>ADDITIONAL SUPPLIES</u> – [\$3,182]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Circle Cutter	Amazon	\$14.97	2	\$29.94
Yellow Balloons	Amazon	\$13.99	1	\$13.99
White Balloons	Amazon	\$15.99	1	\$15.99
Multi-Color Pony Beads	Amazon	\$7.90	4	\$31.60
Yellow Pony Beads	Amazon	\$3.99	4	\$15.96
Bead Box	Amazon	\$11.04	3	\$33.12
Pipe Cleaners	Amazon	\$3.99	5	\$19.95
Photo Booth Props	Amazon	\$8.99	1	\$8.99

Ream of Yellow Paper	Amazon	\$7.99	1	\$7.99
Henna Cones	Amazon	\$11.10	4	\$44.40
Elastic Cord	Amazon	\$7.98	5	\$39.90
Bracelet String	Amazon	\$14.06	2	\$28.12
Paper Bags	Michael's	\$4.99	15	\$74.85
Yellow Ribbon	Amazon	\$16.95	3	\$50.85
Poster Board	Hobby Lobby	\$5.99	1	\$5.99
Spray Adhesive	Hobby Lobby	\$8.50	1	\$8.50
Wrapping Tape	Hobby Lobby	\$2.99	3	\$8.97
Stickers	Hobby Lobby	\$3.99	8	\$31.92
Napkins	Hobby Lobby	\$2.99	4	\$11.96
Yellow Table Cloths	Hobby Lobby	\$2.99	7	\$20.93
Plywood	Lowes	\$29.93	2	\$59.86
Blue Tape	Lowes	\$19.99	1	\$19.99
Spray Paint	Lowes	\$3.98	4	\$15.92
Tree Planter	Lowes	\$35.00	1	\$35.00
Sandpaper	Lowes	\$3.97	1	\$3.97
Hinges	Lowes	\$3.89	4	\$15.56
Henna Artists	Tats 4 All	\$325.00	2	\$650.00
Button Parts 3 inch- 1000 parts	UMakeButtons	\$239.93	1	\$239.93
Button Parts 1.5 inch- 500 parts	UMakeButtons	\$174.95	1	\$174.95
Helium Tank	Praxair	\$114	2	\$228.00
Platinum Photo Booth	Platinum	\$500.00	1	\$500.00
Shirts	Image Masters	\$7.95	50	\$490.00

\$2,937.10	SUBTOTAL
\$243.97	TAX
\$3,181.07	GRAND TOTAL

$\underline{OTHER} - [\textit{insert requested amount here}]$

ITEM VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
-------------	---------------------	---------------	-------	--

		S

SUBTOTAL
TAX
GRAND TOTAL